[image: image1.png]ANSWERS TO ASSIGNMENT # 1

la) Frequency Table:
Interorbital Width (mm) Frequency
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b) Histogram:
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c) X=17.82

d) Median = 7.8

o(X; — X)2
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f) X 1 SD: 26 of 40 = 65.0%
X £ 2 8SD: 39 of 40 = 97.5%

e) 8= = 0.765




[image: image2.png]4a) Parasitized sticklebacks: X =540 s =2.02
Non-parasitized sticklebadss: X = 18.14 s = 6.53
Non-parasitized sticklebacks feed at a higher rate than parasitized sticklebacks, and
are more variable in feeding rate.

b) Parasitized: sg = 0.640
Non-parasitized: sg = 2.07
j¢ is more reliably estimated by X in parasitized sticklebacks than in non-parasitized
sticklebacks because the variability of the estimate (sx) is less in the former group.

c) Parasitized: CV = 0.375
Non-parasitized: C'V = 0.360
The two groups have approximately equal variability in feeding rate relative to the
mean.

58) Xeompined = 38.35
b) 83,51ca = 55.05
c) Yes it can be done, but I don’t require that you know how:
day 1: BX; = n;X; = 1360, day 2: X5 = ny X, = 1593,
3 Xoveranr = 1360 41593
day 1: ©X? = s3(ny — 1) + (5X1)?/ny = 59833.91
day 2: £X3 = s3(np — 1) + (5X5)2/ny = 58487.04

nX2_ . = 118320.95
e
B _ 118320.95 - L
Scombined = g gE 1 = 0073

6a) X=12.82 (X is increased by 5.0)
b) s=0.765 (no change)
¢) CV = s/X = 0.060 (reduced because X is increased but s is not)
d) sg =0.121 (no change)
e) s2=1234 (s?is quadrupled)
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b) Histogram:
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) & =8.04, Median = 6.1, 5 = 0261, #* = 00881

) A bar graph s uned to depict frequencis of discrete or nominal data; o histogram is
e to depict frequencies of coniinuous numericol data.
1) The moan i the *center of gravity” of aset of observotions—it is their sum
divided by the mumber of obeervations; the wedian i the middle value of a net. of
obmervations—it divide the ordered observations into halves; the mada i the most

collction of masurements about which ore wishes to
draw conclusions; o sample s a subsed of measurements taken from the population,
and will be wed Lo make inforences about the population.

) The standard deviacion, the square root o the sampl variance, measures the
variabilty i the trait of interes, X. The standard orror messures variabiliy in o
sample estimate, such s the sample mean, . The standard error of the mean s
the standard deviation of the sample mean.




e) A random sample is one in which each member has an equal and independent chance of being selected.  A non-random sample is one which does not meet these criteria 

and so may have a bias.

f) A parameter is a quantity that describes or characterizes a population, e.g. a measure of central tendency such as the mean.  A statistic is an estimate of a population parameter (also known as a sample statistic).
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